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Example

» Express the following probabilities in terms of the standard
Normal CDF @(-) = F2(2)( e e studud mevel 2 vNE.1D)
* P(X>1) where X~N(u=5, 6*=4)
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» We can estimate o° by|sample variance|
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+ Note: if we knew mean x we could use + Y. (X, ~ )", butsince uis
unknown we must rely only on sample X,.....X,

« Gamma(n/2,1/2) called chi-square distribution with parameter n
« Parameter n a.k.a. degrees of freedom

« Sampling distribution of sample variance given by
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« Result derived from Z[‘,.(%}V ~ 7
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« For sample mean & variance, we have
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« tdistribution can be used to find accuracy of X, estimation, even if
variance is unknown (i.e. using sample estimate of o2)




